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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

TS fRAIIRE R e b ot Pk g fore -

(a) State whether o (sigma) is a population
parameter or statistic.

o (sigma) Ff2sre e 7 sifomfs % w47 |

(b) What is coefficient of variation?
PR 7ot 5 2

(c) Define equally likely cases.
SR o9 SR fray |
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(d)

(e)

(9)

(h)

(i

0)

A23/180

(2)

If A and B are two independent events,
P(Avu B) = P(A) + P(B)- P(An B).

(Write True or False)

A SF B Pl ¥ WAl W, @EERE
P(AU B) = P(A)+ P(B) - P(AN B).

(Tm 1 e fe9)

What is meant by probability
distribution of a random variable?

Ffoee bo1 gl 397 feic [ q@r 2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

2ol S 76 I 2RI “f12fa & 9

What is marginal probability
distribution?

Afes SIS 3% & 2

Define purposive sampling,
TR SAfosER i fia |

Mention two methods of
sampling.

Argfoe 2AfSBRT o1 “AfS Semy <o |

If r=0-9, interpret the result.

nﬁrzo-gm,mw%m?

random

( Continued )

(k)

U]

(m)

)

(o)

()

@
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(3)

What is the relation between mean,
median and mode?

SIS, TYN] SF IZe94 TF 2
Define conditional probability.
SEACA SgIROE Fige fod |

(Write True or False)

(w7 & SRy feran)

Write the probability distribution
function of Poisson distribution.

A6 I5q TGS 9B Fereol fof |

If two values of a variable in a series are
equal, how is the rank determined?

It @51 TR TEF B AT 4T W (SR T
YR @ @ R o9 = 2

What is scatter diagram?

a3 foa 2

Define covariance.

AZASIR Higel T |
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(4)

(r) Show that E(c) = ¢, where cis a constant.

CHYSTT A E(d) = ¢, IS ¢ 27 5] 545 |

2. Answer any five of the following questions :

o4 R I 601 2pe Ty ey ="

(a) Distinguish between arithmetic mean
and harmonic mean.

W%WWWWWW%?

(b) If the values of a variable of a series are
multiplied by a constant, what will
happen to standard deviation?
nﬁaﬁwwaﬁ&amﬁmﬁqw
W, T [Roo @eTmed ereie =3 2

(¢ Under what conditions binomial

distribution tends to Poisson
distribution? '
QAR 569 RS B 957 oms I%eCe
3RS 37 2

(d) A card is drawn from a pack of well
suffled pack of cards. What is the
probability that it is either a king or a

spade?
90T O] C5eH0q [ 3ft @ o15ere Bar A,

ﬁﬁzwmwwmwﬁm

A23/180
( Continued )

(e)

(S)

Write two demerits of systematic
sampling.

Aafoore afevaea o1 epyfy for |
() Distinguish between  linear and
non-linear correlation.
R WF IF TOTEF Tw© A1 o |
(g) 1f the first quartile (Q;)=30 and third
quartile (Q3)=35, find coefficient of
quartile deviation.
T oW voie (Qy) =30 TR P TR
(Q4) =35 T, (SR T bivr 2 Tfere |
(h) Write two properties of Poisson
distribution.
5 3% o1 4 foran |
(i) Mention two variables whose correlation
coefficient is zero.
9T Ol vEE TrEd 1 TN AT RA [N
ST |
() What is moment?
e 2

A23/180
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(6 )

3. Answer any four of the following questions :
S5x4=20
o R I BB 2 T oy -

(a) Show that standard  deviation s

independent of change of origin but not
of scale.

m@mwﬁmﬁﬂﬁiﬂéﬂawm
R 1 “fRasm o1 o 72y |

(b) There are 3 économists, 4 engineers and
2 statisticians. If 3 persons are chosen
at random for formation of a committee,
What is the probability that in the
committee there will be

() one from each profession;
(@) 2 economists and 1 statistician;
(iii) all engineers? 2+2+1=5

3@&@%@9,4@%@%293

ﬂﬁmwﬁ!ﬁwswfﬁaﬁﬂﬁ%mw
29 | fifee—

(:)mcmquwmwﬁ@

i

(@ 2 & w@qRr wme 9&T AR
A I e o
(i) 3%%@%%%?

£23/380 ( Continueq )

(c)

(d)

(e)

Player

e

A
B

A23/180

(7)

Prove that
E(aX +bY) = aE(X) £ bE(Y) o

#99 $91 @, E(aX +bY) = aE(X) + bE(Y).

What is skewness? Determine Karl
Pearson’s skewness from the following: 5

Size LD "enadi A B
Frequency : 12 8 20 7 13

Sifol B2 @oq SRR <41 S Pt
el Sfee |

Describe briefly different steps involved
in sample survey. 5

afmf e e wfve Rida Rz e
3¢l 0|

In a 5-match one-day international
series involving India, two veteran
batsmen made the following scores : 5

S T TR TR SRR e ¢ <
(TS B TR CAORCAC AR N IMEN Tee
fwll 43

Score
qrer
1stODI 2nd ODI 3rd ODI 4th ODI 5th ODI
65 120 15 95 25
. HE 69 80 65 45

( Turn Over )



(9)
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(8)

Identify the better batsman and more
consistent batsman in the series

*RIYEOTS  (FITE Gizee B —
T (@O %3 o 31 |

Income of a group of 10000 persons
were found to be normally distributed

with mean ¥520 and stand evi
. ard i
is ¥60. Find— e

(i) Fhe number of persons having
Income between ¥400 and ¥ 550;
(i) the lowest income of richest 500
For a standard normal variate 2 the area
under the curve between z=g and
z=0-5is0-1915, the area between z =0
and z=1-645 is 0-4500 and the area
betweent=0and t =2is0-47725

10000 e W1 [{wd9 3419 Ream s
FATS E 520 51 §F AE [R50 60 B
CAT 3 |

(i) R R4 T =W 400 591 W 550
TP AEr® A3 2

(i) REE wm @ 500w foeas
BRI W OWW R e
P(0<2<0-5=0-1915, '
P0<z<1.645=0-4500 sive
P0<z<2)=0-47725,

( Continued )

(@)

4. Answer any four of the following questions :

10x4=40

o i e S 2 Oed e

(a) Why is arithmetic mean known as ideal

(b)

CI

average? State and prove the properties

of arithmetic mean. 2+8=10
sifafes soe fow s o @ @R =W
sfafes s1oq (RMEPTIR T S &f¥I 41 |

Show that AM>GM>=HM. Calculate
mean and standard deviation from the

following table : 6+4=10
e AM >GM > HM. SR SIfeiFR 21
51G S T [5er Ofeed :

0-9 10-19 20-29 30-39

T FE

Frequency : <

25 39 23 14

EIESISE]

(c)

A23/180

State and prove addition theorem of
probability when the cases are mutually
exclusive. From a bag containing 4
white and 6 red balls, 3 balls are drawn
at random.
(i) Find the expected number of white
balls drawn.

(i) Find the expectation of drawing at
least 1 red ball. 4+3+3=10

( Turmn Over )



(@)

(e)

A23/180

(10 )

?%Tﬁm QIR G IS WF 2919 79 A
T A= Mo = 1 @B @ 45
wwaﬁrwmmwmwm:’m

(i) 31 91 IR snfafes eremm Sfenaay |

(i) IRTFS 157 q¢1 9 ¢
ARF snfafes GO
Sferer | PRI

Derive the mean and i
gi;lomial distr-‘ibution. On v:rnla-::;ra 0::
o of pop‘ulatlon in an area suffer i'rcug
TB. What is the probability that out cufnél
persons chosen at random from thi
area, at least 2 persons suffer from TB;S

6+4=10
farm fRoqem %wmq%ﬁ\fﬁﬂl&lwm
qﬂ;fiﬂtﬁ 2% SR TH W | O IR o
S e TR HTT@@T:,W 'q'lfi}{ @R 2

u\ﬁﬁ:li’ﬁ WW\S 2 @'{ W’
SIS g 2 AL

Distinguish between sampling error
non-sampling error. “Sample sury an'd
advantageous than co e
enumeration.” Explain . mplgtCS
+35=10

aferm @ o weferm @ fie

'3 W
fst 1 “afm s spmoye SIWG‘Z;:QQ;‘W
AR 17 e 3= | ¥

( Continued )

(11 )

() Write short notes on stratified sampling
5+5=10

and purposive sampling.
wAgs et qF SrwEee AfentT SIS
g BT fersi |

(g9 What are the underlying assumptions of

Karl Pearson’s correlation coefficient?
Find Karl Pearson’s correlation
coefficient from the following :
ol PatR  emEm RE SekRe
SfoqRaPE B | O IR o[l S
PretaR SToTFad W20l Sfeed

23 30 35 28 41 45 353

Age of husband
7199 P
Age of wife 21 23 28 27 '35 34 43
FIEREL]
Interpret the result. 10
Ferge A P91
(h) State and prove the properties of
correlation coefficient. 10
SooTEd TRIR (AFRIER TS HE T 7
(i) Explain the main properties of normal
distribution. 10
stieRel A6 <5 CAREPTIR Aol 1 |
() Show that in Poisson distribution, mean
is equal to variance. 10
o1 1 G 7D A5 51G S 2P T 2 |
* * *
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